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HL Spectroscopic identification of organic compounds:
Question 19

Identify Compound S from the data (a — d) given and explain how you arrived at your answer

(a) Elemental analysis of Compound S

Element Percentage by mass
Carbon 54.52
Hydrogen 9.17
Oxygen 36.31

(b) Mass spectrum of Compound S

100
57
80
> ]
c 4
2
£
e 407 59
20
‘ M+
L | | 88
oo+——n—— by il I
0.0 20 40 60 80 100

m/z
NIST Chemistry WebBook (https://webbook. nist.gov/chemistry)

. © Dr Geoffrey Neuss, InThinking
http://www.thinkib.net/chemistry 1




(c) Infrared spectrum of Compound S
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d) 'H NMR spectrum of Compound S
(Integration trace) Singlet (3)
Triplet (3)
Quartet (2)
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Source: https://www.chemicalbook.com/SpectrumEN_554-12-1_1HNMR.htm
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